H B ARl

BRMERfH . SERR294E 3A19R  (A) % S VANV E- i
WLk T HE AT 4 B SIMAER : 56 N (BB 44 N - 2k 120)
HDCP EBR :
a—2 OUT IN 1/ 1
FIERLRTE © B2 UNSWIE) - 4 kX WIE) ER : SERR294E 3A 198 (H)
NEAL BN 4 ouT IN GROSS HDCP NET %
1 AL | D B2 45 49 94 26.0 68.0 |EAY
2 fr | i B 45 43 88 19. 0 69.0 | EAY
3 L | KA FEsh 49 51 100 31.0 69.0 | HAY
4 L AR IE 49 50 99 36.0 63.0 | H—FRE HAY
5 fir |JiH % 51 50 101 27.0 74.0 | HAY
6 fr | B s 47 54 101 27.0 74.0 |HADY
VAL N 52 55 107 33.0 74.0
8 iz | ] #F 53 57 110 36.0 74.0
9 fr | fail HRGE 53 51 104 29.0 75.0
10 {7 [{TE AR 55 51 106 31.0 75.0
11 {7 | EK B 46 39 85 9.0 76.0
12 ff | KIF A5 7 45 43 88 12.0 76. 0
13 fir | % 44 45 89 13.0 76.0
14 {7 | #2)1 —BR 57 51 108 32.0 76. 0
15 fir | AR 48 42 90 13.0 77.0
16 ff | A0 JHES 45 48 93 16.0 77.0
17 A | AT e 53 43 96 19.0 77.0
18 fir | HHH SEB 51 47 98 21.0 77.0
19 fif | /MG # sl 52 50 102 25. 0 77.0
20 A7 | Ak R= 51 44 95 17.0 78.0
21 {7 |5 &= 50 49 99 21.0 78.0
22 fif |t EY sE 55 51 106 28.0 78.0
23 ff | @ IEA 45 45 90 11.0 79.0
24 fi7 | &K & 50 42 92 13.0 79.0
25 f | ffh PRER 46 50 96 17.0 79.0
26 7 | 0 B 50 60 110 31.0 79.0
27 {f | By NP 39 48 87 7.0 80. 0
28 fir | T HEET 55 51 106 26.0 80.0
29 {if | Ve BLSE 46 44 90 9.0 81.0
30 i | ®KYy — =5 46 48 94 13.0 81.0
31 A | AR & 55 56 111 30. 0 81.0
32 L | Fiff SFA 48 51 99 17.0 82.0
33 AL | JE%E 51 48 99 17.0 82.0
34 i | R #% 51 54 105 23.0 82.0
35 fir | /MR Stz 55 58 113 31.0 82.0
36 fif | =& Bl 57 58 115 33.0 82.0
37 AL | EE HEER 61 57 118 36. 0 82.0
38 N | A IE 46 56 102 19.0 83.0
39 fir | i HEE 53 57 110 27.0 83.0
40 7 | TR AR 54 59 113 30.0 83.0
41 A7 | AR EfRT 53 61 114 31.0 83.0
42 fr | AL BER T 58 57 115 32.0 83.0
43 7 | JFH W) 55 48 103 19.0 84.0
44 A | Gk 5T 54 50 104 20. 0 84.0
45 AL | Wil - 48 61 109 25.0 84.0
46 7 | B8R #& AR 55 59 114 30.0 84.0
47 47 | B —5 60 57 117 33.0 84.0
48 ff | AT EE T 55 45 100 15.0 85. 0
49 fL | =F Fo+ 52 50 102 17.0 85.0
50 fir | Ve HiE 65 54 119 34.0 85.0
51 fif | J/ uhkE 52 51 103 16.0 87.0
52 i | K¥y BF5F 47 57 104 17.0 87.0
53 7 | sk i 53 55 108 21.0 87.0
54 7 |i=H EHA 64 61 125 36. 0 89.0
55 I | Wbl &% 58 59 117 25.0 92.0
N R | B #ifd 1 56 77 133 36. 0 97.0




